Name: Long multiplication - 3 digits by 2 digits (Skill 78)
Long multiplication - three digits by two digits

1) 385x15= 11) 328 x 60 =
2) 681x73= 12) 710 x 60 =
3) 586 x 80 = 13) 230 x 42 =
4) 520 x 59 = 14) 947 x 60 =
5 220x 11 = 15) 695 x 51 =
6) 672X 73 = 16) 631 x 44 =
7) 494 x 55 = 17) 131 x 62 =
8) 465x 16 = 18) 410 x 27 =
9) 158x 57 = 19) 952 x 49 =
10) 430 x 69 = 20) 206 x 90 =

Answers, fold under: Mark your work when you have finished.

1) 5775 6) 49056 11) 19680 16) 27764
2) 49713 7) 27170 12) 42600 17) 8122
3) 46880 8) 7440 13) 9660 18) 11070
4) 30680 9) 9006 14) 56820 19) 46648
5) 2420 10) 29670 15) 35445 20) 18540
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